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A:\>red testl.c[
googoooooo

#include <stdio.h>0
main() {0

printf("This is a program.\n"); [
o

A:\>lcc testll

cpp -DLSI_C -IE:\LSIC\INCLUDE -j -o E:1.$$$ testl.c
cf -chut j E:1.$$$ E:2.$3$ E:3.$$3

cg86 -v E:2.$$$ E:3.$$$

main Ll

r86 -0 E:testl.obj -m testl E:3.$$$
114 @link.i

A:\>test10
This is a program.
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51 COO0OO0O0O0OO00OO
000000 cOoooooobo0oboooooboooooobooooooooooaoao
#include <stdio.h>

main(){
oooooao
3
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0000000000000 00000000000000000000D0o0D0o0o0\nOOoOooOUO
O000\n0000000000000000000000000000000O0O0000O0OO0OO
00000000(00O00000000000)30000000 printf(”This is a program.\n”)0 0 O
O00000OThisis aprogram. 0000000000 0O0ODOOODOODOO

gooooo

0000000000000 00O00UooOod (hello.c)
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ooogo
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%0000000000000000000000D000dD 1000000000000 OprintfO00O0O
00000000%0d00000000000000000%4d000000004000000000
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a0 | %d %dd
111 il
12 | 12 uu12
123 | 123 | L1123
1234 | 1234 | 1234

oooo
0000000000000 00000O (printf.c)
O #include <stdio.h>

main(){
int 1i,j;
i=3; j=b;

printf ("i+j=ld i-j=id \n",i+j,i-j);
}

000000000000000
i+j=8 i-j=-2
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5.4 for(O

for0000D00OO0O0O0O0O0O0ODOOOOO0ODOOOODODOOOOOODOOOOOOODOODOOODO
oboooooooooooo

OOfor (O ;0 ;0 )0 ;

ooo0ooOo00ooO00O0OoOooooooooootfr0 000000000 OooooOoKOOOOooOod
ooooooboooobooboboooboobobooboooooboooooooooooooobooooo
ooood

000 for (i=0;i<100;i++) printf("%d\n",i);

oo00++0000000000000O0O00DOO0:OO00bD1000bo00oO0oOOoooOooooooo
i0000000ooOoooooopDoooigoolo00bDo0oooooooooogicgoniooonoo
oooodooooooooooooOigoooooooooooogoioboo1ooooDooooog
oooooooooooooooo

000000000000000000000000{}000000000000000000 HaHaHa
OCyaCyaCya00ODOO0OD0OO1000000000D00 HaHaHaO 10000000000 CyaCyaCya
ooood

for (i=0;i<10;i++) { for (i=0;i<10;i++)
printf ("HaHaHa\n") ; printf ("HaHaHa\n") ;
printf ("CyaCyaCya\n") ; printf ("CyaCyaCya\n") ;
}
ogooo

booooboooobobooboobooooooboobobOoboooboOobOoboOooobooOoDno
00000000000 fr0000D0O0O00OOCDOODfr000 cat0DOOODOOOOODOODODOO
000000000000 000000000000O000000O0O00O0Od (fort.c)

O #include <stdio.h>

main(){
int i;

for (i=1;i<10;i++) printf("%d %d %d\n",i,i*i,ixi*i);
for (i=0;i<200;i++) printf("cat ");
}

gooooo

1.00000000500000200000000000000 (tanuki.c)

00
(0.0)
=( X ):

Uuvgu

2.0000000000000000000ODO00O (kuku.c)



A:\> kuku[
*%% The Multiplication Table **x*

1 2 3 4 5 6 7 8 9

2 4 6 8 10 12 14 16 18
ugd o

9 18 27 36 45 54 63 72 81

5.5 0000 (if)

gbopoooooobobbobobbooobobooobobooboboobobobobboood
Ubboo0odbO0OyesUOOnoO0O0O0OO0OO0OO0OO0OO0OOOODOOODOOODOODOODOOOOOOO
ooif (00> O;

Od0obo0oo0ooooooooooooono
O04if (O0O0)ODO; else O;

obooooobobooooobooooboboobobooooooobooobooobobooooOoobooooo
oooo{joo0oooooooooo

x<5 gooosboooogn x== gboogsbooooo

x!=b oooosboooooog x<=b 0000000000000
(x==3) |l (x==5) gos3g0oooosbooooo

(x>5) && (y<3) gosO0o0o0oOobooooos3gooooo

00000000200000000000003000000000000000000002000
0000000000000 00000000x0y0z000000000 Ox==y==-0000000
(x==y) && (y==2) 00000000000

5.6 00000 (scanf)
00000 000O00DOO0D0DOO0OD0O00DO0o0DOo0DOO0scanfO000D0ODOOODOODO
scanf ("%d",&i) ;

&LOOODOO00000000000&KO00D0iODDO0O0O00C0O0ODO0OCO0ODOOOODOOODOOscanfOO
o0o0o0o0obD100o00oo0oooooooooooooooo(@uooo0)Doooooooooo

googd

DDI:II:IIZIIZIIZIIZIDDDDDDDDDDDD(hantei.C)
#include <stdio.h>

main(){
int h,w;

printf("Height (cm) = ");scanf("%d",&h);

printf("Weight (Kg) = ");scanf("%d",&w);

if ((h-100)%0.9>w) printf("You are smart!\n");
else printf("You are too heavy!\n");

}

scanf0 0000000000 O0D0OOO0D0OO0000000 scanfO000 printf000000O0O0O0O
ooobooooooooooboooooon
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1. 0000000000000 0 1700100000000 0Iloveyou.00O00D0O0OOO0OO0DOO
0000000000000 000000000O (2kou.c)

A>2kou [
Height=1770
Income=15000
I love you.

A>2kou ]
Height=1500
Income=2000 0

oo

Bye bye, you are too small.[

A>2koull

Height=1900

Income=60001

Bye bye, you must work hard.

2.3000000000000000000D00000DO0O00DO0O00OO (max3.c)

A>max3 00 A>max30 0

A=5[ A=70

B=60 B=30

c=70 c=40

Max=7 [ Max=7
goooog

A>max3 [ A>max3 [
A=70 A=80
B=1201 B=50
c=801 c=801
Max=12 Max=8

1.3000000000000000000O0O0O0ODO0UDOO0O0ODO0OO (sort3.c)

A>sort30 0 A>sort30 0
A=5[ A=70
B=60 B=30
c=70 Cc=40

Answer=7, 6, 5 Answer=7, 4, 3

A>sort3[ A>sort30
A=70 A=80
B=120 B=50
Cc=801 c=801

Answer=12, 8, 7 Answer=8, 8, 5

2. 0000000000000 O00000000O00D000000O0DDOO0O(3kaku.cO3kakua.cO

3kakub.cO 3kakuc.c)

A>3kaku [
Size=80
X

XX

XXX

XXXX
XXXXX
XXXXXX
XXXXXXX
XXXXXXXX

A>3kakua ]
Size=70
xxxxxxx 0
XXXXXX O
XXXXX O
XXXX O
XXX O
XX O
X

OoooogooQg

5.7 MS-DOS

A>3kakub [J
Size=601
x0
xx

A>3kakuc [J
Size=501
XXXXX
XXXX
xxx [ XXX
xxxx 0 XX
xxxxx X
xxxxxx [

Oo00oOoboO0ooDOoDooOo0oooooOoO0oOoMS DOSOOOOOOoOooOooOoooDooooooogo
gobooooboobbobooooooboooobobooooooboboooboobobooooDo
ooMS-DOSOOOOOOOOOOOOOOOODOOOOOMS-DOSODOOOOOOOOOODODODOOO

Ms-DOSOOOOOOOOQOOOOOOOOOOOOOOOOODODOOOOg8OOOOOOODOOOO
oboboooooobosbooooooooooooooobooboboboobobooooooooboooon
oooMS-bOSOOOOOOOO0OODOOOOOOOOOODOOO0ODODOOODOOODDOODOO

uoooboobooobooboooooon

MS-DOSOOCOOOOOOOCOOOO0O00OOOexeOcomObatOOOOO0COOODOOOOOOO
OcOOO0OD0OOO0OOOOOODODOOOOOOOOODOOOOOOn
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000 MS-DOSOOOO0O (0O)000D000ODOO

A> dird gooooobDooboboooooon

A> typelltestl.cO OO00OOtestl.cODOOOOOOO

A> copyUtestl.clabcOd O00O0Otestl.cO abcO0O0O0OD0OO0ODODOOOODODODOO
A> renlabcldefO O00D0abcOdef00D0ODOODOODOOO

A> delUdefO O00D0def0D0OO0OO

gobboobooobobooobooobboooboooboboboobbooobboobobn
bobObooooboboooooobooboboooobobobooo

U A>copy *.c b:

Od0o0o0oo0cO0b00o0booobooooboooooboooooooa
0 A>del testi.x

U00000D00000D¢testlO00O0OO0ODOOOOODOODOODO

good

1. MS-DOSOOO00D0O00OdooOoOoOoUOoOoOOU00oOooOooooooooooOooOOO dic
oboooooooboobod

2. 000000000000000pPakO00O0O0OOOOOOOOOOOOOOOOOOOOOOO
bakODOODOOOOOOODOOOOOOOODODOOOOOOOODOOOODOOOOOOn
58 0000000 (0DOO0)

gobboodooobooooooboboobboobOoboOobOobOoobOOobOobobOobOoboOoboobon
obooobOooooboobooooooo

b

No No A
A >
Ye Ye
B B C g ONo
B
Ye
D
C » .
if (A) B; if (A) B; else C; ‘
C

for (A;B;C) Dy
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oooocoil10ooo1000ooooooooooooOoooooooooooooooooboOoo
booboobobobobobololobobooOooobobooboboobobooboooooooooo
ooo

gooooo

Ubbo0b0U0b00Omax3.cO000000000O0000DOCODOO

5.9 000 (1)

booboboboooobooboboooooobboooobobooooboobobooooboOoooa
uboobOoboobooboboooooboboooOoooooooboobooboOobooooooboooaon
obooooboobooooooboobooooobobooooboboobooooboboooooboooo
gooooooboooobooooboooobboboooobobbooooooboboobOobooDDOo
ubooobobooobog

oooooooooobOoooOooooDbOOoO0oDOOoOoOobOO0bDOoooDOo0frdb0OO0OOOoOOOOn
ooooooboobooooooooooOoooobobobobOoooboboboobobobooooooooo
oooooo

#include <stdio.h>

main() { A>sum [
int i,n,s; N =50
Sum = 15
printf ("N = ") ;scanf ("%d",&n);
s=0; A>sum [
for (i=1;i<=n;i++) s=s+i; N =100
printf("Sum = %d\n",s); Sum = 55

goboodgno

1. 0000 )0000000000000000 n!=1%2%3%_*(n-1)*n 000 O (kaijo.c)

A>kaijoO
N=501
N'=120

2.100n00000000000000O000O00O0OO (kisuwa.c)

A>kisuwa [J
N=150
Kisuwa=64

goboogno

1. nCT(nDEIDDEIrDDDDDDDDDDDDD:nC’,,z(n_”—r!)m)DDDDDDDDDDDDDDD
O000000fr010000000000O0 (ner.c)

A>ncr O
N=50
R=30
nCr=10

13



2.100n0000000000000000D00000 (kisuwaa.c)

A>kisuwaa [l

N=150

1+3+5+7+9+11+13+15=64
5.10 whileO

for000DO0OO00O0OCOCOOODOOOOOODOOOOODOODOODOOODOODOOOOO

No A

Yes

B
No

while (A) B; do A; while (B);

O00whileOOOOOOODODOOOODOOOKOOOOOOOOOOOOOOOOODDODOOOODOOO
00000O0oKODOODOOOODOUOOOUOOooUooOoUfer(;O;) 0;00000000000

OOO0OwhileDOODOOOOOOOOODODOOOOOODODOOODOOOOOOKOOOOODOOOO
O000o0O0O00oKOOOOOOOOOOOooooOOoOwhileDOOOOOOOOOOOOOOOOO
whileOODOOOOODDOOOOOODOODODOOOOwhileDDODOOODODOOOOODDOOOOODO

oooooog

goboogno

1.000000000000000000000000000000 (ged.c)

A>gedO
X=120]
Y=15[]
G.C.D.=3
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2. 0000 000000000000 20000000003000100000000o00O00000O
g010o000oo0o0ooooooooboooboooooooooooooobooooooooonoo
(test231.c)

A>test2310

x = 50
x = 16
x =8
X =4
X = 2
x =1
goooog

1. 000000000000 000000 (lem.c)

A>lcm O
X=120
Y=15[0
L.C.M.=60

2. 00b00b0b0o0ooboboobo0o200b0obooobooOosoob1IooboboooooboooDbOon
goilbooooboobobooooboboobooooobooooooboboooobooboon
0000000000000 00000000000000O (test231n.c)

A>test231n0
x =50

1 : 16

2 : 8

3 :4

4 : 2

5 :1

511 000 (2)

oooooobooO0oOooOoooooOOOoO0oooooboOoOobODbODOOOOOoOOoDOObO0OO00nan for
obooooooooooobooboooooobobooooboobobooooobooboooooooooo
goooooobooobooobobooooobooooooog

#include <stdio.h>

main() {
int i,m; A>mmax [
Data = 5[
m=0; Data = 30
do { Data = 100
printf("Data = ");scanf("%d",&i); Data = 00
if (i>m) m=i; Max = 10

} while (i>0);
printf("Max = %d\n",m);



gooooo

1.

2.

gbooooboooboboooobooog

go0oooooooooooooooooboooooooooooooooooooooooonon
0000000 (heikin.c)

A>heikin [

Data=200

Data=300

Data=100

Data=40 [

Data=0[] goooooooooon
Mean=250 000 (20+30+10+40) /40

goboodgno

1.

5.12

gbooooooooooobooooobboooboooooooobooobooboooboooobooo
000000000000 0UOnO (mminl.c)

A>mmini O
Data=20 [
Data=30 [
Data=100
Data=400
Data=0[]

Min =10

.00gooooooooooooboboooooobooboooboooboooooooooobooboon

obobooboooobOOobOOoOoOooboOoOOoOobOOoOobOobOObOOobOOoOoOOoooOobooOooonbOon
0000000000000 (mmin2.c)

A>mmin2 [0 A>mmin2 [0
Data=20 [ Data=0[]
Data=30 [ No Minimum
Data=100

Data=400

Data=00

Min =-10

gooo

0000000000000 o0o0o0o0o00o0oU0oOoo/*0 */0000000000 breakd
gooobooooon

5.13 break[

break 0000000000000 (for0D0whileDO)0O00O0O0O0O0O0O0ODO0OODOODOOOOO
OO0000000OoO0o00OO0o00OOo00oOobOO0OOOo0OoOO0O0OOOO0breakdDOOODOO
oooobobooooboooooo

/*

o0o0DOoOo0oDOoDOOdsx/

#include <stdio.h>
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main(){

int i,s; /#0i000000000s0000000000000000  */
printf("?=");scanf ("%d",&s);
for (i=2;i<s;i++) /* 200 s-100000000000 */
if ((s%i)==0) /000 s0i000000000O0O */
break; /* forODODOOOO */
if (i==s) printf("%d0000000O\Nn",s); /+ for00000000O0O0O0O0O i==sO0000O=*/
else printf("}d00000O0O0ODO0%OO00O0ON\n",s,i);
¥
ooooon

10000 00000000000000000 0 (s1000.¢)

A>s10000
2 3 5 T 11 13 17
73 79 83 89 97 101 103
179 181 191 193 197 199 211

goboodgno

1. 00000000000000000000000 (bunkail.c)

A>bunkail O
N=1200
120=2%2%2*3%5

2. 00000000000000000000000 (bunkai2.c)

A>bunkai2
N=1200
120=2"3%x3"1*5"1

5.14 0OU

0000000000000000000000000000000000000000000000
000000000000 Oint a[10); 0000 Daj0]0a[l]0a2]0... al9)0 000000 10000000
oooooo

0000[]00000000000000000000000000000000000000000
0000000000 Oscanf("%d",&x); 000000x0000000000Oscanf("%d",&alil);
00Di00D00000a00000000000i0009000a[9)0000000000000000
0000000000000i00000000000000000([]000000000000000
000000000000000000000000000000000

0000000000000000000000000000000000000000000000
000100scanf()000000000000000000000

#include <stdio.h>

main(){
int i,n,datal[100];

17



printf ("How many data? = ");scanf("}d",&n); /* 00000 0OODOODOO
oo0ooooooooo

for (i=0;i<n;i++) { /* */
printf("data=");scanf ("%d",&datalil);

}

for (i=n-1;i>=0;i--) /*+ 00000000000 *x/

printf (" %d",datalil);
printf("\n");
¥

A>revers[
How many data? = 40

data=10 10 datafo] OO0

data=20 20 datal1]1 00O

data=30 30 datal2] 00O

data=40 40 datal[3]1 00O
4 321

i--0i++0000000000:00001000000

goboodgno

00000000000 00000000O000O00000000000O0O0O000O0O0O000000
00000000 (reverse.c)
0 A>reversel

data=501

data=80

data=90

data=00
985

goboogno

000000000000 000000000000 10000000000 0D0O00oD0oDOoO0obooOO
Jo0o0O000000000O000O0O00000O0O0000O0O00O0000O000OO0O00O0O0O00bO0Oa0
000000 (variance.c)

0 A>variance [

data=100

data=300

data=200

data=40 [

data=00
Mean=25 Variance=125

5.15 0OO4Ognd

cooOooOoooOooOoOoO0OoOoOoooooOoOOoOOO0OOOOOCOOOOOOOOOODOOD10O0
0000000000000 02000000(Single quote)l0D00O00O0D0OOODOOOODOOOO
0000000000000 0000000000”abc”"000000 " (Double quote)D000OO00
oooooobooo»oobobbooooooboboboboDooboD”l haveapen.”’0 10000
good

O0ooooooooooooooooDbooDb0O0OboO0O000mtd0000 char00O00OOODDO
gbobodoblooolooboooooooobooooooboooooooooobooobooboobooon
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oo0oo0o0oooool00000oo0oooooooooooooN\(ooo)oooooooo
OwordJDOOODOOODO0O”pat”0 0000000000 Oword[0] 000 word[1]0 O’a’0 word[2)

00 tOword[3]00°\0’000000

word | [0] | [1]

2]

|:| |:| 7b7 7a7

7t7

B [ ] . [ [29]
AR E

000000000000000100000000000000000000000 word[0]="h"; O
OO000O0wordJODODOOODhat” 0000000 ODOOOOOCOODODOOD ™ DDODOOOOOODO

gbobooboobooboobooobooon

#include <stdio.h>

main() {
int i,1;
char word[30];

printf ("Word = ") ;scanf("%s",word);
for (1=0;word[1]!'=>\0’;1++) ;
printf("Word Length=%d\n",1);
for (i=1-1;i>=0;i--)
printf ("%c",word[i]);
printf("\n");
¥

A>testmO

Word = computer [
Word Length=8
retupmoc

/*

/*
/%

/%
/%

oosooooooooogon */
O00000000%0000&O L1000 %/
gbloooooboooooooog */
oooooooooao */
OO0oO0o0ooooOdO0o%ooon */

0000 scanf()0 printf() D00 %I 000000000000 0000%s000000%c00000
obooobooboooboobooooboOooboooooboobooooon

ooo

oon

oooo

00 | int n;
00 | scanf("%d",&n);
00 | printf("%d",n);
oo | n=10;

char c;

scanf ("%c",&c); | scanf("%s",s);

printf("%c",c); | printf("%s",s);

— 7
c="x";

char s[80];

go

goboodgno

1. 00000000000 (aDe0iDo0w)0 000000000000 DO0O0ODOOOO (vowels.c)

A>vowels [
Word=computer
There are 3 vowels in ’computer’.

A>vowels [J
word=big[J
There is a vowel in ’big’.

2.0000000000O0300000000000000OO0O0O0O0O0OODOODOOOODOOOn
00000000300 0000000000(cut3.c)
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A>cut3[
String=personal [
head=per, body=sonal

gobogn

1.000000000000000000000D0000000 000000 (shortest.c)

A>shortest [

Word=book

Word=are [

Word=personal [J

Word=today [

Word=Z [ ~gb00bo0ozoooooooooooooo
The shortest word length is 3.

5.16 DOUOOOOOO

CO000000D00000D000000000000000000000s0¢ 0000000 char
s[100],t[100;000000000000000

O gets(s); sOd000O0bOoOoobOoooa

OO puts(s); sOoooooooooooon

00 strcat(s,t); sOO0000000OO0O0OO0O0O+0D00O0O0O0DOODOODODOO

OO0 stremp(s,t); sO0000000O0O0t000O00O0D00DOOOOODOOOOODODODOO
0000 stremp("abe","def") - OD0O0OO0O stremp("abe","abe") - OO

0000 stremp("def","abc") - O0O0O

OO0 strepy(s,t); t0000D000000sOODOOO0DOODO

00 strlen(s); sOdoboooooooooobooooon

COO00O0D0O000O0U00O0U0DO00O0O0OO0s="abe”; 000000000000 strepy(s,”abe”);0
O0000Ogets()Oscanf()000000000000O0OOOOOO00O0O0Ogets()DO0ODODDOODOOO
000000000 Oscanf() 0000000000000 DODOOOOO Oputs(s)d Oprintf("%s\n",s)
gooooooo

0 OOstreat()Ostremp()Ostrepy()Ostrlen() DO 00000000 00000000 #include <string.h>
gogoood

Jooobobobobooooooobbooboooooo

#include <stdio.h>
#include <string.h>

main(){
char word[20],sentence[80];

printf("Sentence = ");gets(sentence);
printf("Sentence Length = %d\n",strlen(sentence));
strcpy(sentence,"") ;strcpy(word,"") ;
do {

strcat (sentence," ");

strcat (sentence,word) ;

printf ("Word = ");gets(word);
} while (strcmp(word,"end")!=0);
puts(sentence);

}

A>strtest O
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Sentence = I love youl
Sentence Length = 10

Word = 1

Word = love
Word = you
Word = end

I love you

gooooo

l. 00o0oooboboboooobobOobo0ooooobobbboobobDobOoobobo1O0on
00000000000 (exchg.c)

A>exchg U
Full Name=Miki Kunihiro [
In English=Kunihiro Miki

2.00000000000DO0O0O00000OO0O0O0OmMOOOcOOObOOOOOOO0OOoODbOOO00n
0000000000000 O (getword.c)

A>getword [

Sentence = I have a book[]
Word = 1

Word = have

Word = a

Word = book

3. 00000000000000000000yesD D 000000 DOOODOO (search.c)

A>search[

Sentence = I have a book. [
String = ool

yes

5.17 switchO

0000000000000 D0000ooDooDo0DOOooo0o00000oooooifoooooon
000000 O0oDOoO0o00oOoooooO0switchOOODODOOOOOOOO
switch (O) {
case 0 : O0O0O0O; break;

case 0 : OOOO; break;
default : 00OO0OO;

gbbooogoooboboobobooooboobooooooobobobobOoobooboobobooboooboOoono
0000000 00000000000 00ono0y{}0000000000000000 breakO0OD0O
goboooobooobooooooooowoooboooooobooobooboooobobobbobooDboo
O00D0O0O0000DO0000oooDOdefaut D000 D0O0O0OO0O0O00O0ODOOOOO0O00O00
OO00000000D00000defanlt0 000000000
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518 00O0O0OOOODOODO (1)

cooooooooOooOoOoOoOooooooOoOoOOO0U0OOooOUOOOoOooOoOODOoOOoOOOoOOOdn
oboooOobOoooOobOobooooobooobobOoboonoonn

000000000000 main(){...}00000000000000000main()0000000O0O0
00000000000000 tekitou()DO0DODO0DO0000000main()0000000000OOO

tekitou(){
tekitou() O OO
¥

main(){
main() 0 OO
}

main()0 0 00 tekiton()0 0000000000 tekiton();0000000000000000000
0000000000 0000000000000000000000000000000000000
00000000000000000000 tekitow()D0000000000000000000000
000000000000 00000000000000000000

tekiton() 000000000000 000000000000000O000000000000O00
0000000000000000000000000

tekitou(){
int i;
1=100;
¥

main(){
int i;
i=3;
tekitou();
printf("i=%d\n",1i);
t

000000 0Omain()00003000i1000000000 tekitou()DOODOOOI0 100000000
O0main()00000000000DO0O00O0O00=300000000000000000000O0OO
ooooo0oo0oooo(oo00oD)0o00o0U0o0oL (CoooUoo)oooooooo
ooobobooboooobooboboooobobooooboboboooooboboooboooooo
obooooOobooboboooooobooooboooooboooooon

int i; / 000000000000 D0O0DoDo0O =/
tekitou(){

i=100; /x 00 i0000D0O0O00O0OO0OOOOOOOO =/
¥
main() {

i=3;

tekitou() ;

printf ("i=%d\n",i);
¥

O00000i=10000000000000000000imnt1;000000000000000A0 int
y000o0oooo0o0oooooooobo0o0ooooooDOooooDOoDObOOoOoboOooDoObOOi=30
oooooooooobOobooobooooooooooboon
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int i; / 0000000000000DO000 =/

tekitou(){
int i; /* tekitou() O ODOOO00O0i00000 x/
i=100; /x 0O00OD0OOO0O4i000000 */
¥
main(){
i=3;
tekitou();

printf("i=%d\n",1);
}

bobooboboooooboooooooooooooooooon

tekitou(int height){
if (height>170) printf("You are tall!\n");
by

main(){
tekitou(155);
tekitou(165);
tekitou(175);
tekitou(185);
¥

0000000000000 U00 () D00mt0000000000000000000 tekitou()O O
0do0d0oU0D00o0o00o0DOo00oU0o0DO00DoU0DO0ODO0Do0UOoOoDOooDooOOoOoDOooog
0000000000000 00000000O000D000D0DO00DO0000000 1550 heightd O
000000000 1650 height 100 0000000040000 height 0000000000 0OOO2
OYouare talDOOODOOOOOOOOO

goboogno

0000000000000000000000000000000000000000000000
000000000000 (oxle)

#include <stdio.h>

main(){
int i,j,k,ban[10];

printf("\n *** Tick-Tack-Toe Game ***\n");

printf (" ver.1l Man - Man\n\n");
for (i=1;i<=9;i++) ban[il=0; /+ ban[il]O0 0000010000 */
j=1; /* j0 0000000000000 0O0O0O =/
for (i=0;i<9;i++) {

do {

printf("==> ");scanf ("%d",&k);
} while ((k<1) || (k>9) || (ban[k]!=0));
ban[k]=j;
J=-3;
printf("\n | [\n");
switch(ban[1]) {

case -1 : printf(" X |"); break;
case 0 : printf(" 1 |"); break;
case 1 : printf(" 0 1";
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}

switch(ban[2]) {
case -1 : printf(" X ["); b
case O : printf(" 2 |"); break;
case 1 : printf(" 0 |");

}

switch(ban[3]) {
case -1 : printf(" X\n"); break;
case 0 : printf(" 3\n"); break;
case 1 : printf(" 0\n");

by

printf (" | \n");
printf(" ———+=——+---\n");
printf (" | \n") ;

switch(ban[4]) {

case -1 : printf(" X |"); break;
case 0 : printf(" 4 |"); break;
case 1 : printf(" 0 1";
}
/* oooad */
printf (" I I\n\n");

}

D00000000000000000000000000000000 intialize()Dinput()0 display()
0000000000000000main() 000000000000

main() {
int 1i,j;
initialize(); / 00000000Obanl JOOOO %/
=1
for (i=0;i<9;i++) {
input(j); / 00000000000 =/
J=-J;
display(); /* ban[ 1000 */

¥
}

0000000000 0main()00000000O0000O0OO0OODDOOOOODOOOOOOODOOOD
gooboooooooobooooooboooooobboobooooooooDoboooobooDboOoo
Odisplay() 0000000000000 O0000O0O0OO0O0OO0O0O0ODOO0O0OO0O0O0OO0O0ODOOOO
gboobOooooooooog

A>ox10

*x*% Tick-Tack-Toe Game ***
ver.1l Man - Man

=> 10
| |
ol 21 3
| |
[ |
41516
[ |
___+___+___
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oooono

519 000000000 (2)

goooo0ooOo0oooooooOooOo0ooDoOoOooO0ooDoOoDOoOooCcbOUooOoogopDoooDooo
boooooboobooboobooboobooooooobooboooooooboobooooooobooooo
0000000000000 vadOOO0OOODO(@UOO0ODOO0OODO0ODOOOODOO0OO0ODO0ODOOOO
00o0ooooooooo)

000000000000 retwrn(...); 00000000 ()0D0D0O00O0O0O0OODOOODOODOODOOO
goboOdbO0Oreturn000000O000O0O0DOO0O0OOC0ODOODOODOODOODOODOODOOOOOO

int abs(int i){ /¥ absOO0ODOO0ODOOOOO */
if (i>=0) return (i); /* 100000000000 */
else return (-i); /* i000000000o00o0n0 =/

t

main(){

printf("abs(3)=Yd\n",abs(3));

printf("abs(-3)=%d\n",abs(-3));
s

0000000000000 0DOo00Doo0oOooooDo0oo0o00oO0ondDOnn! =
nx(n—1)*(n—2)*%..x3x2x10000000000fr0000000O00DOOOOOOOOOODO
dooodoooooooog

int fact(int n) {
if (n>1) return (n*fact(n-1));
else return (1);

3

main() {
printf("6!=Yd\n",fact(6));

¥

gboobooOobooboobooooobobooooooobooboooono

5.20 0O0O0OO0OOO0OOO

obobooobooobooboobooobooobooobooobooobooob2000b000000D00
include 000000000000 DODOOO0O0OOOODOOOOOOOOOOOODOOOOOOODO



obobobooooboooboboooooobbooobdoxl.cOO0OO0OOOOOOOOODOOOOOO
ooooooo

#include "ox1.c"

boboooboooobooouoodtdboexlcObOODOOODOOOOOOOOODOOOODOODOO
O O#include <stdio.h>O 0000000000 OO0O0O0OOOO0DOOOOOCOOOOOOOOOOO
oooooooooooooooooooooooogor»"0booCcogoooboooooooooooo
ob0boboooUO<»>0b00000ogbobobooboobbodstdio.h 0000 177000D0O0OO

goboodgno

1. 000000 oxl.e0O0 OO0 O#include <stdio.h>00000000Omain()00000000
goooooogo

2.00000o0x2.cO00D000000O0O0DOODOODOOOODOODOODOOOOODOODOOO

#include <stdio.h>
gooooono

#include "oxl1.c"
O00Omain() O OO

. 000ooooboooogn

(a) initialize()00000000000000000

(b) owari() DO 0OO0OO0ODODO0OO0OOOOODXOOOOOD30000000000000O0O0OO
ocoo3foo0O000OmOo0ooOo0oOoooOoOo01I00oOOoooXo3ooooooooo
obobooooobooblibooboooobos3boobooobobooboboooboOooobon
ood

(¢) main()0 00000000000 D000000owari()00000000000000000
00000D0000000000

ox2.c0000000owari) D 00000 main() 000000 0OO0OOODO

5.21 0O0OO

codooOpooOoO0oU0U0OooOooO0O0o0oOooOoOoOoOOooOoOOOoOdOoOoOoOoDoOgj=1010
Oo00o0o0oO0ooooo0ooooo0oOoboooooDj=k=10000000kO100000O0O0DOO
1go0ojboboooogbooooo

forO00000O0O0O0ODO0+400000004++00000000000000O00O0i0000 100
ooooooOoooOOo0o0ooobo 1000000 Dbic00b0OoOoDbOOoO0oDOOobOoOooboOoOoDiboo
ooooog

owari()==10000 000 0000000000000000O00O00OOODO0ODODOOOOOODOO
000000000000 if (owari()==1) .0 if (owari()) ..0000000000

000000000000 if (ban[l]=1) .. 00000000 0ban[l]=10 ban[l]00000000 1
00000000.. 0000000000000000000000ban[1)0000000O00DOOO0O
goooooOo0oOoOoopoOoocCcoogoooogooooooboopooooooo
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5.22 [0O0U

boobOobobooboobobooooboobooboooooobOoooooobOoOooboooooa
oboobOoooooobooboobooooboobooooobobobooooooooobobooboooban
gboooooboooboobooooooooooooooboboooo

COOrand()00000000D00O00O000rand()0000000O0O0O32767000000000
ooobooobooooboooboooboooboboobooboooooooooobooobobooooDblon
e0Ub000O00oOoooOoOoOobOob200b00b000O0On0On

#include <stdio.h>
#include <stdlib.h> /0 rand() 0000000000 =*/

main(){
int 1i;
for (i=0;1<20;i++)
printf ("%d ", (rand()%6)+1); /* a % b D0albO00000000O0O0OO=*/

printf("\n");
by

O0000Orand()000 600000000000 O0O0S0000O00000O0O1I0O00O0O0O1006G
0000000o000o00o00oo0oU0oU0oo0oUooUo0frand)0000000O0O0ODO
0000000000000 O000000DO00bO00000oO0oDOOo0ObLOOoOoO0oOoDoOooDDOOoO0DOan
dod1goebbbo0o0o20000000000O0ODODDOD0O0O0O0ODODDODDODODO0OO0OOODDODDODOOOO
A>ranl]

3542261411261 1664441

A>ran (]
3542261411261 1664441

000000000 0o0o0o0o0ooo0bo0o0o0d0rand()0000000O0O0OOOOO0OOO
stand() 0000000000000 ODO0OOO0OOOOOOOOOOOOUOOODOOOOOOO

#include <stdio.h>
#include <stdlib.h>
#include <time.h> /¥ clock()ODOOOOOODOOOO =/

main(){
int 1i;

srand(clock()); /* 00000000 srand()ODOOO0OO =/
for (i=0;i<20;i++) printf("}d ", (rand()%6)+1);
printf ("\n");

¥

A>ran(
522636222322644451146¢6
A>ran(
45642533356621433263€6
A>ran(
4 35653611263244322514

gooooo

1. 000000o0x2.cO0ox3.cO00000000O000oox2.c000000000000O000O0DO0OO
ODoxd.cO0000000DO0O0DOO0OO0OOODOOODOODOODOOOOODOOOOOOOOOO
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0000000000000 0000000000 uwmern()0000000 rand()0D000OO 1009
0000000000 000Doooo0o00O0000000ooooo0D000000O0O initialize()
000 srand(clock(); 000000000000 main()00000000000O0OD input(j);00
00000000 uwmern()00D00OO0OOO

0000000000000 000000000000 tomern()0O00Otomern()0000000O0O
000000000000000000100000000000main()000000O00 Otomeru()
0000000000000 000wmern()000000OOO0OODO

. umeru()d tomeru()0 00000 ox3.c0000 0ox3.c000000000

goboodgno

1.

0000000000000 oooUoo0O0oO(y/n)DOOODO0OO0O0OOO0O0DyODOODOOD
gboooooooboobooobooboooooboooooooboboooobooobooono

.00uwmern()00000000000000OODO0OOOO0OODODOUOOOOOODOOODOOODOO

goboooboobobooboboooobboooboboooboboooooboobobobon
gobooogo

3. rand() 000000000 DO0O0DOODOOOOOO

5.23 0OOUOOO4OOoOO

scanf() 000 0000000000000 0000000000000D000D00000000000
00D000000000000000000000000000000000000000000000
000000000000000000000000000

#include <conio.h>0 0 kbhit()OD DO D0 getch()00 000000000000 0kbhit()O000
00000000000D0000000000000000000000000000000000000
000D getch() 00000000000 0000D00000000000000MOO00000000
00000000000000000000Mm

gooooo

1.

00000000000 Hitany key’000000000000000000000000000
0000000 rand()00 0000000 (dicel.c)

() 000000000000 disp)000 M disp(1)0000[0p0000oo

(b) 000O0D01-2-..-6-1.0000000000000000000000000000
OO0 disp)000000000

obObooobobooooboooboooobooooobooooooooboooboboOooboboOooboOooboooo
gbooooooooooboooosobooboooobooooooooobooobooboooooooon
gooooooooboboooooooooobooooooooboobboobooobobbooo
0000000000000 000000 (dice2.c)

() 0000000000000 0OO0ODO O#include "screen.c" D000 O0O00DODOO0ODOOO
gbobooboboboobobboooboooobooon

28



locate(x,y) : x01008000y010024000000000000000000O0O
cls() : 0o0o0ooooag

cursol(ON) : OOOOO0OOOOO

cursol (OFF) ooooooooooo

(b OO0 disp()U0DO000OdIsp(1,3,10) 0000010003000 1000000000000
goo

() 00D00O0D0UODO0OO0OOOOUDOOOdisp()ODO0OO0DOOOOOLOODUODOOOOOO
oooooobooooobobooogon

gooooo

00000 dice2.c0 main()J000000 game() 00050 0000000000000000000
0003000000000000001000200000000000000 300000 (dice3.c)
0000000 main()0 000 onegame()0000000000 Ogame()0 000000500000
00000000000

524 000O0O0OOODOOO (1)

gobobooboobOooboobooobobobooooooboobooboobOoboboooboOobOooonn
gooooooboooooobobooobooobooooooooooboooobooooooboooDo
ubooooboooboobobooooboboooooooobOoboooooobobOoOoobooboobooon
bbooooobobooooboboooobooooboobobOoboboooooboobobooooo
oooboooboooooboobooooboobobooooooooooooooooboooooobooooo
oooooo

00000000000 00oooooonUfopen()00000OOOOOOODOOO0ODOOODO
booboooooooobiboobooobooboooooooooboobooooooOoobooboOoOooooo
0o00o0o0o0O00oo0oooo0OoOU0O0oO000O0O00DOLO0O0O0O0LOUO(@LUOLODOoOOOo
ooooogoobooobooboboooobooboooooobooobooooobobooooooboobooboo
oooouobobooooboooooboobooooooobooboooobooobobooooboooDo
0000000000000 ooUOo0ooOoooUoOoL)00DLOU000O0O0LOUO0OOLUoUOoOOoo
0000000000000 000000D scanf()D000000OO0OOscanf()00000OOO0OOODO
gbooboooooboooboobooobooooboobobooooobooooboobooboooboDbOoboo
fclose()DOD0ODD0O0DOD0O0O0O0OOO0datal0 0000000000000 0OOOO0OOOOODOOO

#include <stdio.h>

main() {
FILE *fp; /* O0oooooooooboooobooooooooooood */
int i;
fp=fopen("data","r"); /* 00000 (data) OO O OO () */
fscanf (fp,"%d" ,&i); /* 00000000000 scanfOODOO =/
printf("Read Data is %d.\n",i);
fclose(fp); /* 000000000 D00000D0O0O0og */
¥

0000000000000 000000Ofepen()00000000O00OO0ODOO0O Ufprintf()00
000000000000 fklese() 00000000000 0O0O00OODOO0O0O0ODdatadOOOO0O
ooooooboboboooo
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#include <stdio.h>

main() {
FILE *fp;
int i;
fp=fopen("data","w"); /* 00000 (data) 00O ODOO (w) */
printf ("Number = ");scanf("%d",&i);

fprintf (fp,"%d\n",1i); /*x OO0 fp0O000D0D00O0 printf()OO0 %/
fclose(fp);

goboogno

0000000000000 00000000000000000000 (dicemax)00000000
0000000000000 00000 (diced.c)

1. dice3.cO0000 diced.cOO0O0OODOO
2. red0 dicemax0 0 0000000000000 O0O00ODO1000002000000000000

3.|:||:||:||:|dice.maXDDDDDDDDDDDDDDDDDDDDDDDDDDI‘ead_SCOI‘e()DDDDD
O0000000000 dicemax 0000000 writescore() 000000

4. main()0 000000 readscore() D0 0000000 writescore() 10 O0D0OODOOODO

5. main() 000000000000 O0OO0OODO0OOOD0OO0OOOOOOLOODOOOUOOLOOOOOO
gooooobobooboboooboooooooboboooobooboboooobooo

5.25 000000000 (2)

gboboobooooobooboooooboobooboobooooboooooobooboooooon
oboooobooobooboobooobOooobooooobooobobooboooobooboooooobooboon
0000000000 fseanf)D00000O000ODOOO-10000000000000000O0ODOOO
uboooboooooobooobo

#include <stdio.h>

main() {
FILE *fp;
char 1ine[80];

fp=fopen("test.c","r");
while (fscanf(fp,"%s",line)!=-1) puts(line);
fclose(fp);

0000000000000 0o0o0oooo0noO0O0fopen()D0D”wO0OO0OD0Y200000
oooooOoooooooOo0oOobooooOobOOo0ooOOooooOooobobooooOoDOoOoOooDoOO"w'DOO
obooooOobOoooboobooboooooooooobOobooonn
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gooooo

gbhbooOoobooooboobooooooobooooooooobOo0ooooooooooooooooobooonoag
00000000 1000000000000000000OOreadscore()000000000O0O0ODOOO
0000000000000 000000000000(00D00O0U000)000000 Owritescore()O
0000000000000000000000 Owritescore()D000D000000O00O0 OO main()
oood

5.26 UDOUUOO0OUOOOOObOOOOon

gooopooobooboobooboobooboobooboboboobooboobobooba
ubooboobooobooboobooooooboooooogoo

ool oo ooboobooooon
goddooooooodobooooobobooob0ooooO oo oooobDOoooao
go0odooboobobooboobuobooobooodsypetxt 000000000 oOOO
gobooodobodooboooooooobooboooooooboooobooooooo
00O (ttest.c)

OO0O0DOOO000O00O0OO0OwpetxtOOODODOODODOOODO200000000000D0CO
0000000000000 o0o0o0o0o0o0oU0o0000o0oo00U0oon typetest()O
readtext() 0000000000000 020000000000000000000UO0O0ODO0ODOOD
oboooOobOooooOoboobObobOOoOoboOoobOoobooooooon

#include <stdio.h>

char text[5][80]; /+* OODOOODOOO */

main() {
read_text () ; /x 0000000 */
type_test(); /+* 000D0O0DOOO =/
¥

0000000000000 00D0OOreadtext() 0000000000000 00 main()0 0000
oboooooboooooboobooooooo

void read_text(){

gbobooobooooooiooboooa

void type_test(){

obobobdooobooooboooobboooobooooobooboobos240b0o0booooobooooooo
00000000000 00000000D text[]0D50000000000000O(CUOODOS0000
0ooooooooooo)

00000 typetest() 0000000000000 0O0OOO0ODO0OODOUOODOODOOOOOOODO
bbooobooooboboooboobooboooboooooobosbooooobobosuoboboooon
oooooobbDfe0DDODDOOOODOOOOOOODODOODODOOOOOOODOODODDOOOO
boooboooobobooooobooooobon
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void type_test({
int i, miss, all; /¥ miss: OO0O0O0O0Oall: OOOO =/

miss=0;all=0; /* O0000000000O00000 */
for (i=0;i<5;i++){
..... / O0O00000000O0O00O000 */

printf("Your Score is J%d %%\n",miss*100/all); /* miss/allxi00000000000 %/
¥

oboooooobooooobobooobboboooooboboobOobDoboooboDOobDbboOoooboOoDOo
ubooobooboobooobgooosiebbogoobooooooooobooboooooboobooooo
ubobooobogoblobobooobooboooobooooooboooobooobooooboboobooooboon
000000000000 000DO000U0D0D0puntf() 000000000 0OO0ODO0ODO0O0OOO
0000000000000 0000000 typedine()D00OO0ODOODO0OO0OOODOOOOOOOODO
goooooboooobooboooooobooboooooobooboooobDobooooobooboo
gooobooooooobooboooooogan

int type_in(int 1i){

goobobooobobooooobobobooboboboooobobobboobobobboboOoon
000000000 00o00o00o0o0o00ooU0oooo0Os.230000 getch()DODODO 10000
oboobobobobooboobooboboboobooboobUooboobooboobuooboo
goobboooooooobobbotboddoooo bbb b bbb LL b
oooo0ooooooboodtferb00000OO0DOO0OOO0OO0ODODODOOOOOODODODOOO
do{ } while ( ;000000

0000000000000 0000000000D0O00Dgetch()DO0ODOOOOODOOODO
googoboobobooooobobobbbooooooobbboooob bbb bboog
gbboooobooboboooboobo

gobogn

obOooooool1ooobooboooboooooooooobobOobooooooooobobOono
gooooobobobooboooooobooooobooboooobooboooooobooooooboo
UboobOobobobobO0wpetxtd 00000000 ODOOO0OO00ODOOOOOOOOO0OOOCOO
0000000000000 0000U0o0O0oOooOOUO (ttest.c)

O00O0O0Oreadtext() DO 0ODO0O0D0O00O0O0DO0O0O0O0DOODODOOfgets)UDO0DO0ODODOOO
ooo

fgets(OODODOO, OODOOOO, ODOODOOOO)

dooooooooboooboooooooboooo2000b000obo0obooooobooooooa
000000000000 0o00(@U00O000oo00oU0oD00oU0ODoOoOOn)on gets()
0000000000000 0o00o\00D00000000000000000000o0o0ooUoooOo
0000000000000 00000NULLOOOOO gets()0DOO0D0OO

typestest() 000000 missO allO00O0O00000OOO

typeline() 0000000000 getch() 0000000000000 DO0O0DO0O0OOO0ODOOODOO
0000000000000 getch()D0OD00O0O0OO0DO0O0OU0OU0OOOOOOOOgetch()OOODO
doooobbooooogo
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A 0O0O0OO0OOO0OO

A.1 hello.c
O0o0o0ooooooooon
#include <stdio.h>

main(){
printf ("skkkkkkxk\n") ;
printf("+ HELLO *\n");
printf ("skkkkkkkk\n") ;

}

gfdobo0oooooooooooon
#include <stdio.h>

main(){
printf ("Hxkkkkxkk\nx HELLO *\nkxskkkxkk\n'") ;

}

A.2 tanuki.c
O0o00o0o0ooo0oboooooooboobooooobooobooooonon
#include <stdio.h>

main(){
printf(" 0 O 00 00 00 00 \n");
printf(" (o.0) (0.0) (0.0) (0.0) (0.0)  \n");
printf("=( x )= =(x )= =(x)= =(x)= =(x)= \n");
printf(" U U Uuvu Uuvu Uu Uuvu \n");
printf(" 0 O 00 00 00 00 \n");
printf (" (o.0) (0.0) (0.0) (0.0) (0.0) \n");
printf("=( x )= =(x)= =(C(x)= =(x)= =Cx)= \n");
printf(" U U uvu Uuvu uvu Uuvu \n");
printf(" 00 00 00 00 00 \n");
printf(" (o.0) (0.0) (0.0) (0.0) (0.0) \n");
printf("=( x )= =(x )= =(x)= =(x)= =(x)= \n");
printf(" U U Uuvu uvu uvu Uuvu \n");
printf(" 0 O 00 00 00 00 \n");
printf (" (o.0) (0.0) (0.0) (0.0) (0.0) \n");
printf("=( x )= =(x )= =(x)= =Cx)= =(Cx)= \n");
printf(" U U uvu Uuvu uvu Uuvu \n");
printf(" 00 00 00 00 00 \n");
printf (" (o.0) (0.0) (0.0) (0.0) (0.0) \n");
printf("=( x )= =(x )= =(x )= =(C(x)= =(Cx)= \n");
printf(" U U Uuvu Uuvu Uuvu uvu \n");
}

o0oooooooooon
#include <stdio.h>

main(){
int i;

for (i=0;i<5,i++) {
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printf(" 0 O 00 00 00 00 \n") ;
printf (" (o.0) (0.0) (0.0) (0.0) (0.0) \n") ;
printf("=( x )= =(x )= =(x )= =(C(x)= =(x)= \n");
printf(" U U Uuvu Uuvu Uuvu Uuvu \n");

gooobobooboobobboobbferb00OoooOoOobOOO0ObO0ObObODOODODbOobODODO

#include <stdio.h>

main(){
int 1i,j;

for (i=0;i<b;i++) {
for (j=0;j<5;j++) printf(" 0O ")
printf ("\n");
for (j=0;j<5;j++) printf(" (o.0) ")
printf("\n");
for (j=0;j<5;j++) printf("=( X )= ");
printf("\n");
for (j=0;j<5;j++) printf(" U U ")
printf ("\n");

A.3 kuku.c

printf() 000 "%4d"0 40 000000000000 0000OO0ODOO0OO0OOO0OOOODOOOO

#include <stdio.h>

main(){
int 1i,j;

printf("\n *** The Multiplication Table #*x*\n\n");
for (i=1;i<10;i++) {

for (j=1;j<10;j++) printf("%4d",ix]);

printf ("\n");
}

A.4 2kou.c

obOoooooooOooboooboobooooboooboooobobooobooooobobooobobOoonn
gooobooboooboob20s500000000D0O0DOODO

#include <stdio.h>

main(){
int h,i;

printf("Height=");scanf ("%d",&h);
printf ("Income=");scanf ("%d",&i);
if (h>=170)
if (i>=1000) printf("I love you.\n");
else printf("Bye bye, you must work hard.\n");
else
if (i>=1000) printf("Bye bye, you are too small.\n");
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else printf("Bye bye.\n");

A.5 max3.c

J0goooobooooooooob 2000000000000 0ooobooobooboooboboOoon
oooobooboooobooooon

#include <stdio.h>

main(){
int a,b,c;

printf("A=");scanf("}d",&a);
printf ("B=");scanf ("%d",&b);
printf("C=") ;scanf ("%d",&c);
if (a>b)
if (c>a) printf ("Max=%d\n",c);
else printf("Max=%d\n",a);
else
if (¢>b) printf("Max=%d\n",c);
else printf("Max=%d\n",b);

ObOo0ob00a000000O00O00DOCOOOOO0OOO0OOObOO0bOO0b00O0bO0bO0O00O0O0bO0b000
gooobob0obaa0b0b0ooooboobobobooboobobbobobooobooo

#include <stdio.h>

main(){
int a,b,c;

printf("A=");scanf ("}d",&a);
printf ("B=");scanf ("%d",&b);
printf("C=") ;scanf ("%d",&c);
if (b>a) a=b;

if (c>a) a=c;

printf ("Max=%d\n",a);

jogbobobooobooooobooboboboosboooooob200b00003000000
oboboobooos3ooooooobooboooooooobooooooboooboooooboooooooon

A6 max3.cOOOOOOQOO

ubooobooooooboboooboboooogon



c0D000| a0o000o| booooo|cooooo)|

S

A.7 kaijo.c

#include <stdio.h>

main(){
int i,n,s;

printf ("N=");scanf ("%d",&n) ;
s=1;

for (i=1;i<=n;i++) s=s*i;
printf("N'=%d\n",s);

A.8 kisuwa.c

#include <stdio.h>

main(){
int i,n,s;

printf ("N=");scanf ("%d",&n) ;
s=0;

for (i=1;i<n;i=i+2) s=s+i;
printf ("Kisuwa=%d\n",s);

A9 gcd.c

#include <stdio.h>

main(){
int x,y;

printf ("X=");scanf ("%d",&x);
printf ("Y=");scanf ("%d",&y);
while (x!=y)

if (x>y) x=x-y;
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else y=y-X;
printf("G.C.D.=%d\n",x);
}

A.10 test231.c

#include <stdio.h>

main(){
int x;

printf("x = ");scanf ("%d",&x);
while (x>1) {
if ((x%2)==0) x=x/2;
else xX=x%3+1;
printf ("x=%d\n",x);
3

A1l 000 (2)00o0o00ooo

A.12 heikin.c

ooboobOobooobooooboob1bobobooooooooooooooboobooobooooon
gooooobboooboobobo1oooboboooboOonb-10D0000D00ODO0O0ODODO

#include <stdio.h>
main(){
int d,n,s;

n=0;s=0;

do {
printf ("Data=") ;scanf ("%d",&d) ;
s=s+d;

n++;
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} while (d>0);
printf ("Mean=%d\n",s/(n-1));
}

A.13 s1000.c

obooooooobooobobooooboooooboboobDobOooooObOOobDOoboooDoDOo
000000000000000000+/» 000000000 n=10000000 10000000000000

#include <stdio.h>

main(){
int i,s;

for (8=2;s<=1000;s++) {
for (i=2;i<s;i++)
if ((8%1)==0) break;
if (s==1i) printf("%4d",s);
t
printf("\n");
¥

A.14 reverse.c

data[ij 00000000 dataij 0000000000000 0O0OOO0O0OO0ODO0OO0OOODOOOO
OCo00++0000000000DODOOO0ODOOOOODOOOOOO

#include <stdio.h>

main(){
int i,datal[100];

i=-1;

i++;
printf("data=") ;scanf ("%d",&datal[i]);
} while (datalil>0);
for (i=i-1;i>=0;i--)
printf (" %d",datali]);
printf("\n");

A.15 vowels.c

#include <stdio.h>

main() {
int i,n;
char word[30];

printf ("Word=") ;scanf ("%s",word);
n=0;
for (i=0;word[i]!=’\0’;i++)
if ((word[il==’a’) || (word[il==’e’) || (word[i]l==’i’) ||

(word[il==’07) || (word[il==’u’)) n++;
if (n==1) printf("There is a vowel in ’%s’.\n",word);
else printf ("There are %d vowels in ’%s’.\n",n,word);
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A.16 exchg.c

#include <stdio.h>

main() {
char fname[40];
int 1i;

printf("Full Name=");gets(fname);

for (i=0;fnamel[i]!'=’ ’;i++) ;

fname[1]=>\0";

printf("In English=%s %s\n",&fname[i+1],fname);

bboboooooooboooooobooboboobobobobooooobooboooooooooa
oooooooon

A.17 getword.c

oob0l00oooo0ooooboboooooboobOob00oooooDOobo0DOWord=0O0OO
booOooboboboooobobooooooobooooooooboooobooboooboooonoog
ooooboooon

#include <stdio.h>
#include <string.h>

main(){
int i;
char sentence[80];

printf("Sentence=") ;gets(sentence);
printf ("Word = ");
for (i=0;sentence[i]!=>\0’;i++)
if (sentencel[i]l==’> ’) printf("\nWord = ");
else printf ("%c",sentence[i]);
printf("\n");

A.18 search.c

#include <stdio.h>
#include <string.h>

main() {
int 1i,j;
char sentence[80],string[20];

printf("Sentence = ") ;gets(sentence);
printf("String = ") ;gets(string);
for (i=0;sentencel[i]!=’\0’;i++){
for (j=0;stringl[j]!=>\0’;j++)
if (sentencel[i+j]!=string[j]) break;
if (string[jl==’\0’){
printf ("yes\n");
break;

}
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A.19 oxl.c

l00o0oo0o0ooooOo(ooooUoUooOO0oLo0oOoLO)DUoUOoUUoLOoOoUUoDOo
000000000000000000000000000000O0ban[|0000000OO0OODOOOO
0000 swji)0yoko()DOOODOO0OODOOO0ODOODODOODOODOOOOODOODO

#include <stdio.h>
int ban[10];

initialize ()4
int i;

printf("\n *** Tick-Tack-Toe Game ***\n");
printf (" ver.1l Man - Man\n\n");
for (i=1;i<=9;i++) ban[i]=0;

}

input (int j){
int k;

do {
printf("==> ");scanf ("%d",&k);
} while ((k<1) || (k>9) || (ban[k]'=0));
ban[k]=j;
¥

suuji(int j){
switch(ban[j]) {
case -1 : printf(" X "); break;
case 0 : printf(" %d ",j); break;
case 1 : printf(" 0 ");

}

yoko(int i){
printf (" [ \n");
printf("  ");suuji(i);printf("|");suuji(i+1);printf("|");suuji(i+2);printf("\n");
printf (" | [\n")

¥

display ()4
yoko (1) ;
printf(" ———+———+-—-\n") ;
yoko(4);
printf (" ———t———+——-\n") ;
yoko (7);

main()0 0000000000000 000O0O0O

A.20 ox2.c

#include <stdio.h>
int ban[10];

#include "ox1.c"
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int a(int i, int j, int k) { /* OO0 a0O00O000014, j, k000000000 =/
return (ban[i]+ban[j]l+ban[k]);
}

int test(int f){
if (a(1,2,3)==f || a(4,5,6)==f || a(7,8,9)==f || a(1,4,7)==Ff ||
a(2,5,8)==f || a(3,6,9)==f || a(1,5,9)==Ff || a(3,5,7)==f)
return (1);
else
return (0);

}

int owari(){

if (test(3)==1) {
printf("OO00O00O0O\n");
return (1);

3

if (test(-3)==1) {
printf("ODO0O0OOO\n");
return (1);

}
return (0);
3
main() {
int 1i,j;
initialize(); /¥ OD00000O0OOban[ J]OOOO */
display(); /* ban[ 1000 =/
J=1;
for (i=0;i<9;i++) {
input (3) ; /+ 00000000000 %/
3==3;
display(Q); /* ban[ 1000 */
if (owari()==1) break; /* 00000000 for OOOOO %/
3
¥
A.21 ox3.c

#include <stdio.h>
#include <stdlib.h>
#include <time.h>
int ban[10];

#include "ox1.c"

void umeru(){

int i;
while (ban[i=(rand()%9)+1]'=0) ;
ban[i]=-1;

}

int t(int i, int j, int k){
switch (ban[il+ban[jl+ban[k]) {
case 2 :
case -2 : if (ban[i]==0) ban[il=-1;
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else if (ban[j]==0) ban[jl=-1;

else banl[k]=-1;

return (1);
default : return (0);
}

}

int tomeru(){

if (£(1,2,3) || t(4,5,6) || t(7,8,9) || t(1,4,7) ||
£(2,5,8) Il t(3,6,9) Il t(1,5,9) || t(3,5,7))
return(0) ;
else
return(1);
¥
main() {
int i,j;
initialize(); /* ODO000000OObvan[ 1OOO0O
display();
j=1;
for (i=0;i<9;i++) {
if (j==1) input(j);
else if (tomeru()) umeru();
J=-J;
display(); /* ban[ 1000 */
if (owari()) break; /* 00000000 for OOOOO
}
3

A.22 dicel.c

#include <stdio.h>
#include <conio.h>

void disp(int i){

switch (i) {
case 1 : printf(" \n e O\nO0ODO\n");break;
case 2 : printf(" e\n [O0O\ne O0O\n");break;
case 3 : printf(" e\n e [\ne O0O\n");break;
case 4 : printf("e e \n O\ne [Je \n");break;
case 5 : printf("e e \n e [J\ne [Je \n");break;
case 6 : printf("e e \ne [Je \ne [Je \n");
3
3
main() {
int i;
printf("Hit any Key!'\n\n");
for (i=1;kbhit()==0;i++) /* 000000000000000
if (i>6) i=1; /¥ i000e000O0DO1000
getch(); /* 000000000000
disp(i);
¥

A.23 dice2.c

#include

"screen.c"

#include <conio.h>
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void disp(int i, int y, int x){

locate(x,y);

switch (i) {
case 1: printf (" ") ;break;
case 2: case 3: printf(" e ") ;break;
default: printf("e e ');

}

locate(x,y+1);

switch (1) {
case 1: case 3: case 5:
printf(" e ");break;

case 6: printf("e e '");break;
default: printf (" ")
+
locate(x,y+2);
switch (i) {
case 1: printf (" ") ;break;
case 2: case 3: printf("e ") ;break;
default: printf("e e '");
+
¥
main() {
int i;
cls();cursol (OFF);
locate(20,10) ;printf ("Hit any Key!");
for (i=1;kbhit()==0;i++){ /30 0000000000000000 */
if (i>6) i=1;
disp(i,15,10);disp(i,15,20);disp(i,15,30);
t
getch();
for (;kbhit()==0;i++) { /¥ 200000000000000000 */
if (i>6) i=1;
disp(i,15,20) ;disp(i,15,30);
¥
getch();
for (;kbhit()==0;i++) { /¥ 1000000000000000 =/
if (i>6) i=1;
disp(i,15,30);
+
getch();
cursol (ON) ;
t

ubobobuoboooboboooOmuobOobOOobOObObOOO0O0O20000 1000000000000
main() 00 0000000000000 0OOOOOOOOOO

main(){
int i,j,k,m;

cls();cursol (OFF);
locate(20,10) ;printf("Hit any Key!'\n\n");
i=j=k=1;
for (m=0;m<3;) {
if (kbhit()) { /* 00000000000 -000000000000 =*/
m++;

getch();
}
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switch (m) {

case 0 : if (++i>6) i=1;disp(i,15,10); /* breakO DO DO ODODO =/

case 1 : if (++j>6) j=1;disp(j,15,20);
case 2 : if (++k>6) k=1;disp(k,15,30);
¥

}
cursol (ON);

A.24 diced.c

#include "screen.c"
#include <stdio.h>
#include <conio.h>

int top; /¥ topUmnamel read_score() 00D OOO0O00ODOOOODO
char name[16];

void disp(int i, int y, int x){
OO00OQ0O00O0Q0O0QOdice2.cO000QOOOOOOOOO

¥
int onegame(){ /* O00O0000 int OO0 =/
int i,j,k,m;
cls() ;cursol (OFF);
locate(20,10) ;printf ("Hit any Key!");
i=j=k=1;
for (m=0;m<3;) {
if (kbhit()) {
m++;
getch();
}
switch (m) {
case 0 : if (++i>6) i=1;disp(i,15,10);
case 1 : if (++j>6) j=1;disp(j,15,20);
case 2 : if (++k>6) k=1;disp(k,15,30);
}
t
cursol (ON) ;
if ((i==j) && (j==k)) return (10); /¥ 0000000000
if ((i==j) || (j==k) || (i==k)) return (3);
return (0);
3
int game (){
int i,s;
s=0;
for (i=0;i<b;i++) s=s+onegame();
return (s);
3

void read_score(){ /* O0000000O void */
FILE *fp;

fp=fopen("dice.max","r");
fscanf (fp,"%d" ,&top) ;
fscanf (fp,"%s" ,name) ;
fclose(fp);
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}

void write_score(){ /+* 00000000 void =/
FILE *fp;

fp=fopen("dice.max","w");
fprintf (fp, "%d\n%s\n" ,top,name) ;
fclose(fp);

}

main() {
int p;

read_score();

printf("\n\nO 00O = %d\n",p=game()); /* O000p0000D0OOO

if (p>top) {

top=p;
printf ("Your Name = ");scanf("%s",name);

}

write_score();

A.25 diceb.c
diced.cO0O00O0O0OOOODOOO

void read_score(){
FILE *fp;

fp=fopen("dice.max","r");
while (fscanf(fp,"%s",name)!=-1) {

*/

fscanf (fp,"%d",&top) ; / DO0000DOOO000OOO0O0DOOoOoOoooDooboOoooo

printf("%d by %s.\n",top,name);

}
fclose(fp);
printf("\nHit Any Key!! ");/+* 0000000 ODOOODODOODOOOOODOOO =/
getch();
}
void write_score(){
FILE *fp;
fp=fopen('"dice.max","a"); /* 0000 wO a0O0OD0OO =/
fprintf (fp,"%s\n%d\n" ,name,top) ;
fclose(fp);
}
main(){ /¥ write_score(O IO OOOOODOO =%/
int p;

read_score();
do {
printf("\n\n0 00O = %d\n",p=game());
if (p>top) {
top=p;
printf ("Your Name = ");scanf("%s",name);
write_score(); /+* O0O0O0O0O00O0OO0O0OO0OO0OOOOOOOOO
}
printf("Do you want play again? (y/n) : ");
} while (getch()==’y’);

*/

*/



printf("\n\nHigh Score is %d by %s.\n",top,name);
}

A.26 ttest.c

#include <stdio.h>
#include <conio.h>
#include <string.h>

char text[5][80];
void read_text(){
FILE *fp;
int 1i;

fp=fopen("type.txt","r");
for (i=0;i<5;i++){

fgets(text[i],80,fp); /* 8000000000 OOOOOOO =%/

text[i] [strlen(text[i])-1]="\0’; /* fgetsQ O OO ODOODOOOODONnDOOODO*/
¥
fclose(fp);

}

int type_line(int i){
int j, m;

n=0; /+ mO00O0OOOOCOOOOO %/

for (j=0;text[il[j]1'=’\0";j++){
while (text[i][j]!=getch()) m++; /* getchOODOOODODOOOO0OOnODOODO*/
printf ("%e",text[11[j1);

¥

printf("\n\n");

return (m);

}

void type_test(){
int i, miss, all;

miss=all=0;

for (i=0;i<5;i++) {
all=all+strlen(text[i]);
printf ("%s\n",text[i]);
miss=miss+type_line(i);

3

printf("Your Score is %d %%\n",miss*100/all);

t

main(){
read_text();
type_test();
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